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Start with use credit ? Or end with it ? Two problems .

t=asa=oscntisl;w£±k;µw±ff¥siatiHwetiy

.

- flu ) ( line  in plane)

z=fH , y ) ( curve in 3D space )

Keep × constant .

+ is - function of,y .

we  could write
dgty,

but

as 7  is also  a function  of  m
, we write instead

:Ty

and call 0¥ the partial derivative of z  with respect to y .
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Lowercase cyrillic 2
.

÷tE=¥E 's E¥=¥ntFt¥zI¥n



t.it/n,yl=n3y - ex 's

caaaeofxifnisftg ¥ .

' ¥ f¥s
,

÷
- x ? p

.

- host
- r

'
sin 's §¥) .

= 2r(wio

.in?o)eefuvz=fr,o

)

.

2=2×2×2 .j= 2×2 - r
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. x2+y ? 25 =P
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These are basically 3 differentfunctions .
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Inconvenient when letters W physical meaning .

In thermo

l¥tit⇒ :#hi# pieta
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Series expansion about point 6,51 .

what is the surface that

approximates the function ?

flx ,y1=eYog( lty ) Zander about @4=6,0 )

fxtexlgllty ) fxlqolto
fy=eYt+y5
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ehtln fy 10,01=1

fx=eHg/1ty) fxxlo ,d=0
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fz=fyy=eH1ty ) "

fxy 6,01=4+6/01--1
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flx , g) around k
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powers in terms of A - a ) and
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Take the derivatives

F = go t 2g ( × . a ) - a
, , G- b) t .

.
.

fy = Gi +  a " ( x-al + Zaoz (y - b) + . . .

fxx = Zaz + . . .

fyy - an +
. . .

put x=  a
; y=b
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.
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while h= ( x - a) k=(y. b )

2nd order :

÷ [fx( a. b) h2+ Zfxyk,
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The Tdndn term is
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Dz  = flntsx , y ) - fln , y )+ flntsx , ytsx ) - flat DX
, y )

Given flln ) = Pm DX ) . ffn )
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